PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

PRODUCT NAME / NUMBER(S) : S862DJ-176
Description If Available / Needed : Pub Side Chair
Pub Chaise d'appoint
Pub Silla

drew &
jonathan

—

B © R © D

O

x1 Chair Back * x1 Chair Seat* x1 Front Legs (Left)* x1 Front Legs (Right) * x1 Side Stretcher (Left) * x1 Side Stretcher (Right) *
x1 Dossier de chaise x1 Siége de chaise x1Patte avant (gauche) x1Patte avant (droite) x1 Civiere latérale (gauche) x1 Civiere latérale (droite)
x1 Respaldo de silla x1 Asiento de silla x1 Pata delantera (izquierda) x1 Pata delantera (derecha) x1 Camilla lateral (izquierda) x1 Camilla lateral (derecha)

B ® G H
=w

%

x1 Front Stretcher * ) o x4 Allen bolt @5/16"x18 x75mm” x2 Allen bolt 5/16"x18 x38mm™* x10 Lock washer @5/16"x13mm *
x1 Repose-pieds avec éraflures métalliques x4 vis a téte creuse hexagonale @5/16"x18x75mmx2 Vis & téte creuse hexagonale @5/16"x18x38mm  x10 Rondelle de blocage @5/16"x13mm
x1 Reposapiés con metal desgastado x4 Perno Allen ©5/16"x18x75mm x2 Perno Allen ©5/16"x18x38mm x10 Arandela de Seguridad ©5/16"x13mm

D K M N)
— ) T

x10 Flat Washer ©5/16"x19x1.5mm™* x1 Allen Key 4mm * x4 Hex nut @5/16x13mm™ x1 Open Wrench 13mm* x6 Wood Screw #8x38mm™
x10 Rondelle plate @5/16"x19x1.5mm x1 CI¢ hexagonale 4mm x4 Ecrou hexagonal @5/16x13mm x1 clé a fourche 13mm x6 Vis a bois #8x38mm
x10 Arandela plana @5/16"x19x1.5mm x1 Llave Allen 4mm x4 Tuerca hexagonal @5/16x13mm X1 Llave de boca 13mm x6 Tornillo para madera #8x38mm

* Replaceable Part

Page 1 of 3 Assembly Instruction-Instruction d'assemblage-Instrucciones para el ensamblaje
Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam



drew & ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
jonathan | PRODUCT NAME / NUMBER(S) : S862DJ-176
—¥ Description If Available / Needed : Pub Side Chair
Pub Chaise d'appoint
Pub Silla

* Replaceable Part

Page 2 of 3 Assembly Instruction-Instruction d'assemblage-Instrucciones para el ensamblaje
Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam



drew &
jonathan

—

REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

PRODUCT NAME / NUMBER(S) : S862DJ-176
Description If Available / Needed : Pub Side Chair

Pub Chaise d'appoint
Pub Silla

x1 RS862DJ-176-BACK-Chair Back™
-Dossier de chaise
- Respaldo de silla

X1 RS862DJ-176-LEGFR - Front Legs (Right) *
- Patte avant (droite)

- Pata delantera (derecha)

%

x1 RS862DJ-176-STREF - Front stretcher *
- Barreau avant
- Travesafo delantero

x1 RS862DJ-176-CUS - Seat Cushion®
- Coussins de siéde
- Cojines de asientos

 —

x1 RS862DJ-176-STRESL - Side Stretcher (Left) *
Civiere latérale (gauche)
Camilla lateral (izquierda)

un @7’

x1 RS862DJ-176-HWKIT - Hardware Kit*
Liste des picces de quincaillerie
Lista del kit de materiales

s=

=

[

x1 RS862DJ-176- LEGFL - Front Legs (Left)*
- Patte avant (gauche)

- Pata delantera (izquierda)

x1 R8862DJ-176-STRESR - Side Stretcher (Right)*
Civiére latérale (droite)
Camilla lateral (derecha)

x4 RC-WH-NAIL-White plastic nail "
Clou en plastique
Clavo de plastico

* Replaceable Part

Page 3 of 3

Assembly Instruction-Instruction d'assemblage-Instrucciones para el ensamblaje
Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam



